MATH 114 - QUIZ 1 - 24 JANUARY 2013
Answer all of the following questions in the space provided. Show all work as partial

credit may be given. Answers without justification, even if they are correct. will earn no
credit.

L. (6 pts.) Find the total displacement over the time interval 0 < t < 3 of an object whose
velocity function is given by v(t) = 2 — t. Find also the total distance travelled over that
time interval. (Hint: You don’t have to use calculus to solve this problem.)
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MATH 114 - QUIZ 1 - 24 JANUARY 2013

Answer all of the following questions iy the space provided. Show all work as partial
credit may he given. Answers without Justification, even if they are correct. will earn 1o
credit.

L. (6 pts.) Find the total displacement over the tine interval () St<3ofan object whose
velocity function is given by o(t) = t + 9 Find also the total distance travelled ovey that
time interval. (Hint: Yoy don’t have to use calculus to solve this problem.)
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MATH 114 - QUIZ 1 - 24 JANUARY 2013

Auswer all of the following questions in the space provided. Show all work as partial

credit may be given. Answers without justification. even if they are correct, will earn no
credit.

L. (6 pts.) Find the total displacement over the tinme interval 2 <t <5 of an object whose
velocity function is given by ¢ v(t) =5 —2t. Find also the total distance travelled over that
time interval. (Hint: You don’t have to use calculus to aolve this problem.)

Dsploce et =A A, = 5 (D))~ )ng)
oL er e
i R

{/LA th“((&“muc A*ﬂ |
T>£x- Y &tdt = Ct—*}E\:Q§>£Q*C“”‘Q

(Y{‘ g\ [$- ){ ldt = Q/ )—SLZ"C t Xfe 2t - &

) <P 25, 27
G(. t [L + 6(', "Sf)( = [25-2/(_% "lC‘th <+z/§",y§.,$ !‘_z_

2. (4 pts.) Evaluate the followmu definite integral using substitution. / £Losin( )(11:
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